

Summary of Bids Received

Project: Sunset Avenue Roadway Enhancement

Section: 11-00169-07-LS

Description: Landscaping and Guardrail Installation

Bidder	Address	City, State, Zip	Bond	Bid Price	% Over/Under Eng. Estimate	\$ Over/Under Eng. Estimate
Mat Construction Company, Inc.	4450 S. Morgan Street	Chicago, IL 60609	Bid Bond	\$204,122.87	-21.40%	-\$55,560.63
Copenhaver Construction	75 Koppie Dr.	Gilberts, IL 60136	Bid Bond	\$345,605.00	33.09%	\$85,921.50
Engineer's Estimate				\$259,683.50		
Design	IDOT(2)	Contract Bidder	P.	JT then Plan Rack		
Finance	Bid Tab File	Resident Eng.	A	dministrative Assis	tant	<u> </u>
Construction	Project File	Request By Mail	N	1gr Capital Prograr	nming	



Return Bid Tabulation

Project: Sunset Avenue Roadway Enhancement

Section: 11-00169-07-LS

Description: Landscaping and Guardrail Installation

Item	Pay Code	Description	Quantity	Unit	Eng Fsti	Eng Estimate		Eng Estimate Copenhay		onstruction	Mat Construction	Company, Inc.
No.	Tuy code	Description.	Quantity		Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price		
1	20800150	TRENCH BACKFILL	34.0	CU YD	\$40.00	\$1,360.00	\$58.00	\$1,972.00	\$49.50	\$1,683.00		
2	28000510	INLET FILTERS	10.0	EACH	\$150.00	\$1,500.00	\$1.00	\$10.00	\$27.50	\$275.00		
3	35101400	AGGREGATE BASE COURSE, TYPE B	10.0	TON	\$100.00	\$1,000.00	\$50.00	\$500.00	\$44.00	\$440.00		
4	63100089	TRAFFIC BARRIER TERMINAL, TYPE 6B	2.0	EACH	\$5,500.00	\$11,000.00	\$5,500.00	\$11,000.00	\$5,346.00	\$10,692.00		
		TREE, ULMUS JAPONICA X WILSONIANA										
5	A2008517	MORTON (ACCOLADE ELM), 2-1/2" CALIPER,	3.0	EACH	\$600.00	\$1,800.00	\$450.00	\$1,350.00	\$412.50	\$1,237.50		
		BALLED AND BURLAPPED										
		TREE, ULMUS CARPINIFOLIA HOMESTEAD										
6	A2008820	HOMESTEAD ELM), 2-1/2" CALIPER, BALLED	3.0	EACH	\$600.00	\$1,800.00	\$450.00	\$1,350.00	\$385.00	\$1,155.00		
		AND BURLAPPED										
		SHRUB, RHUS TYPHINA TIGER EYES, (TIGER										
7		EYES CUTLEAF STAGHORN SUMAC),	10.0	EACH	\$95.00	\$950.00	\$90.00	\$900.00	\$51.70	\$517.00		
		24" HEIGHT, CONTAINER										
8	C2C078G5	SHRUB, ROSA X KNOCKOUT (KNOCKOUT	30.0	EACH	\$80.00	\$2,400.00	\$80.00	\$2,400.00	\$50.60	\$1,518.00		
		ROSE), CONTAINER GROWN, 5-GALLON			,	, ,	,	, ,	,	1 /		
		EVERGREEN, JUNIPERUS HORIZONTALIS										
9	D20010S2	PLUMOSA COMPACTA (COMPACT ANDORRA	30.0	EACH	\$65.00	\$1,950.00	\$60.00	\$1,800.00	\$49.50	\$1,485.00		
		JUNIPER), 24" SPREAD, BALLED AND										
10		BURLAPPED	407.0	TON	Ć40E 00	Ć40 70F 00	Ć4 7 0.00	¢40,400,00	6427.50	64474250		
10		GRAVEL MULCH	107.0	TON SQ YD	\$185.00	\$19,795.00	\$170.00	\$18,190.00	\$137.50	\$14,712.50		
11	K1003680		257.0	EACH	\$11.00	\$2,827.00	\$11.00	\$2,827.00	\$6.60	\$1,696.20		
12		PERENNIAL PLANTINGS, SPECIAL II	110.0 240.0	EACH	\$20.00 \$19.00	\$2,200.00 \$4,560.00	\$17.00 \$17.00	\$1,870.00 \$4,080.00	\$12.10 \$11.00	\$1,331.00 \$2,640.00		
13 14		PERENNIAL PLANTINGS, SPECIAL II PERENNIAL PLANTINGS, SPECIAL III	106.0	EACH	\$19.00	\$2,014.00	\$17.00	\$1,802.00	\$12.10	\$2,640.00		
15		PERENNIAL PLANTINGS, SPECIAL III PERENNIAL PLANTINGS, SPECIAL IV	2,000.0	EACH	\$1.00	\$2,000.00	\$6.00	\$1,802.00	\$2.48	\$4,950.00		
16		CLEAR AGGREGATE BINDER	1.0	L SUM	\$42,500.00	\$42,500.00	\$55,000.00	\$55,000.00	\$14,000.00	\$14,000.00		
17		4" PERFORATED FINGER DRAINS	102.0	FOOT	\$42,300.00	\$2,550.00	\$35,000.00	\$2,550.00	\$22.00	\$2,244.00		
17		STEEL BACKED TIMBER GUARDRAIL	102.0	, 001								
18	LC600106	CONNECTOR	2.0	EACH	\$1,300.00	\$2,600.00	\$14,000.00	\$28,000.00	\$1,650.00	\$3,300.00		
19		EARTH EXCAVATION (SPECIAL)	123.0	CU YD	\$50.00	\$6,150.00	\$60.00	\$7,380.00	\$30.80	\$3,788.40		



Return Bid Tabulation

Project: Sunset Avenue Roadway Enhancement

Section: 11-00169-07-LS

Description: Landscaping and Guardrail Installation

Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate		Eng Estimate Copenhaver Construction		Mat Construction	Company, Inc.
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
20	X2110100	TOPSOIL FURNISH AND PLACE, SPECIAL	105.0	CU YD	\$80.00	\$8,400.00	\$90.00	\$9,450.00	\$73.70	\$7,738.50
21	X4403800	MEDIAN SURFACE REMOVAL	11,697.0	SQ FT	\$2.00	\$23,394.00	\$1.00	\$11,697.00	\$1.41	\$16,492.77
22	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$12,000.00	\$12,000.00	\$57,000.00	\$57,000.00	\$2,500.00	\$2,500.00
23	Z0027800	GEOTECHNICAL FABRIC	959.0	SQ YD	\$2.50	\$2,397.50	\$3.00	\$2,877.00	\$4.95	\$4,747.05
24	Z0064560	SEGMENTAL BLOCK RETAINING WALL	440.0	SQ FT	\$80.00	\$35,200.00	\$88.00	\$38,720.00	\$71.50	\$31,460.00
25	Z0077740	WOOD GUARD RAIL	708.8	FOOT	\$95.00	\$67,336.00	\$100.00	\$70,880.00	\$101.92	\$72,237.35
	Bid Total					\$259,683.50		\$345,605.00		\$204,122.87



Return Bid Details

Project: Sunset Avenue Roadway Enhancement

Section: 11-00169-07-LS

Description: Landscaping and Guardrail Installation

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
1	20800150	TRENCH BACKFILL	34.0	CU YD	\$40.00	\$1,360.00	\$49.50	\$58.00	\$53.75
2	28000510	INLET FILTERS	10.0	EACH	\$150.00	\$1,500.00	\$1.00	\$27.50	\$14.25
3	35101400	AGGREGATE BASE COURSE, TYPE B	10.0	TON	\$100.00	\$1,000.00	\$44.00	\$50.00	\$47.00
4	63100089	TRAFFIC BARRIER TERMINAL, TYPE 6B	2.0	EACH	\$5,500.00	\$11,000.00	\$5,346.00	\$5,500.00	\$5,423.00
5	A2008517	TREE, ULMUS JAPONICA X WILSONIANA MORTON (ACCOLADE ELM), 2-1/2" CALIPER, BALLED AND BURLAPPED	3.0	EACH	\$600.00	\$1,800.00	\$412.50	\$450.00	\$431.25
6	A2008820	TREE, ULMUS CARPINIFOLIA HOMESTEAD HOMESTEAD ELM), 2-1/2" CALIPER, BALLED AND BURLAPPED	3.0	EACH	\$600.00	\$1,800.00	\$385.00	\$450.00	\$417.50
7	C2C06026	SHRUB, RHUS TYPHINA TIGER EYES, (TIGER EYES CUTLEAF STAGHORN SUMAC), 24" HEIGHT, CONTAINER	10.0	EACH	\$95.00	\$950.00	\$51.70	\$90.00	\$70.85
8	C2C078G5	SHRUB, ROSA X KNOCKOUT (KNOCKOUT ROSE), CONTAINER GROWN, 5-GALLON	30.0	EACH	\$80.00	\$2,400.00	\$50.60	\$80.00	\$65.30
9	D20010S2	EVERGREEN, JUNIPERUS HORIZONTALIS PLUMOSA COMPACTA (COMPACT ANDORRA JUNIPER), 24" SPREAD, BALLED AND BURLAPPED	30.0	EACH	\$65.00	\$1,950.00	\$49.50	\$60.00	\$54.75
10	K1001969	GRAVEL MULCH	107.0	TON	\$185.00	\$19,795.00	\$137.50	\$170.00	\$153.75



Return Bid Details

Project: Sunset Avenue Roadway Enhancement

Section: 11-00169-07-LS

Description: Landscaping and Guardrail Installation

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
11	K1003680	MULCH	257.0	SQ YD	\$11.00	\$2,827.00	\$6.60	\$11.00	\$8.80
12	LC200360	PERENNIAL PLANTINGS, SPECIAL I	110.0	EACH	\$20.00	\$2,200.00	\$12.10	\$17.00	\$14.55
13	LC200361	PERENNIAL PLANTINGS, SPECIAL II	240.0	EACH	\$19.00	\$4,560.00	\$11.00	\$17.00	\$14.00
14	LC200362	PERENNIAL PLANTINGS, SPECIAL III	106.0	EACH	\$19.00	\$2,014.00	\$12.10	\$17.00	\$14.55
15	LC200363	PERENNIAL PLANTINGS, SPECIAL IV	2,000.0	EACH	\$1.00	\$2,000.00	\$2.48	\$6.00	\$4.24
16	LC400002	CLEAR AGGREGATE BINDER	1.0	L SUM	\$42,500.00	\$42,500.00	\$14,000.00	\$55,000.00	\$34,500.00
17	LC600014	4" PERFORATED FINGER DRAINS	102.0	FOOT	\$25.00	\$2,550.00	\$22.00	\$25.00	\$23.50
18	LC600106	STEEL BACKED TIMBER GUARDRAIL CONNECTOR	2.0	Each	\$1,300.00	\$2,600.00	\$1,650.00	\$14,000.00	\$7,825.00
19	X2020410	EARTH EXCAVATION (SPECIAL)	123.0	CU YD	\$50.00	\$6,150.00	\$30.80	\$60.00	\$45.40
20	X2110100	TOPSOIL FURNISH AND PLACE, SPECIAL	105.0	CU YD	\$80.00	\$8,400.00	\$73.70	\$90.00	\$81.85
21	X4403800	MEDIAN SURFACE REMOVAL	11,697.0	SQ FT	\$2.00	\$23,394.00	\$1.00	\$1.41	\$1.21
22	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$12,000.00	\$12,000.00	\$2,500.00	\$57,000.00	\$29,750.00
23	Z0027800	GEOTECHNICAL FABRIC	959.0	SQ YD	\$2.50	\$2,397.50	\$3.00	\$4.95	\$3.98
24	Z0064560	SEGMENTAL BLOCK RETAINING WALL	440.0	SQ FT	\$80.00	\$35,200.00	\$71.50	\$88.00	\$79.75
25	Z0077740	WOOD GUARD RAIL	708.8	FOOT	\$95.00	\$67,336.00	\$100.00	\$101.92	\$100.96
		Bid Total				\$259,683.50			